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Abstract. In this paper, we use a new method to investigate forced oscillation of solutions
for a class of impulsive hyperbolic differential equations satisfying Robin boundary con-
dition.(i.e.,using Robin eigenvalue problem to study the Robin boundary value problem).
Some sufficient conditions are obtained.
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1 Introduction

Recently, many people have studied impulsive partial differential equa-
tions. L.H. Erbe, H.I. Freedman, X Z Liu , and J H Wu [1] have given
comparison principles for impulsive parabolic equations; D. Bainov , Z. Ka-
mont , and E. Minchev [2] have studied periodic boundary value problem for
impulsive hyperbolic partial differential equations of first order; L Q Zhang][3]
has given oscillation criteria for hyperbolic partial differential equations with
fixed moments of impulse effects; L H Deng and W G Ge [4] have given
oscillation criteria for a class of impulsive parabolic equations. In this pa-
per, we use a new method to investigate forced oscillation of the following
impulse hyperbolic differential equation satisfying Robin boundary condi-
tion(i.e.,using Robin eigenvalue problem(see formula (3)) to study the Robin
boundary value problem (1)-(2)).
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where A is the Laplacian, u = u(t,z), (t,z) € R+ x 02 =G, Q C R" is a
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